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f'c = 2500 psi with no reinforcement near the anchors

1/8



09/13/201310/01/2013

2/8



09/13/201310/01/2013

3/8



Threaded Rod capacity calculation

Applied tension 846 lbs

Applied Shear 1192 lbs Tension 3479 lbs

min embedment 3.375 in Shear 1386 lbs

edge distance: 4 in

Rod diameter: 0.50 in CSI = 1.103 This will work.

F'c : 2500 psi

Tension Shear

Nua = 1353.6 Vsa 5815

Vua = 1907.2 φ = 0.6

φVsa = 3489

Nsa = 14190

φ = 0.65 Vcb = 1979.899

n = 1 Vb = 1979.899

φNsa = 9224 φ = 0.7

Avc = 72

φNcb = 3478.998 Avco = 72

Anc = 91.75781 Ψed,v = 1

Anco = 102.5156 Ψc,v = 1

Ψed,n = 0.803704 le = 4

Ψc,n = 1 φVcb = 1386

Ψcp,n = 1

Nb = 7440.325 Kcp = 2

Kc = 24 Na = 7570.126

φ = 0.65 Ncb = 5352.305

Ca,min = 1.75 Vcp = 15140.25

φ = 0.7

Na = 7570.126 φVcp = 10598

Nao = 10523.35

τk,cr = 1985 Steel Capacity 3489

Scr,na = 10.125 Concrete Break out 1386

τk,uncr = 1985 Concrete pryout 10598

Ccr,na = 5.0625

Anao = 102.5156

Ana = 91.75781

Ψed,na = 0.803704

Ψp,na = 1

φ = 0.65

φNa = 4920.582

Steel Capacity 9224

Concrete Capacity 3479

Adhesive Capacity 4921

Anchor Capacitys:

truss to concrete wall connection at a corner
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